Corrigendum

In the tender mentioned below, the last date of submission may be read as 2nd March, 2021 upto 15:00hrs.

No. DGT-CNST/01/2021-O/o Dir-DGT(GA) Government of India Ministry of Skill Development & Entrepreneurship Directorate General of Training

Dated:- 25.02.2021

Notice Inviting

Sealed tenders are invited for executing the following work within 15 days from the date of issue of work order. Security money of Rs. 10,000/-in the form of Demand Draft has to be deposited with the sealed tender as Security Deposit in favour of PAO, MSDE.

Information and Instruction for Bidders for sealed cover tender

Sl. No.	Name of Work	Estimated	Date of Release of Tender	Last date and time of submission of tender	Period during which tender processing fee & other documents shall be submitted	Time & date of opening of tender
1	Construction of room with attached toilets and renovation	4.98 lakh	26 th February, 2021	1 st March, 2021	Lowest Tenderer within a week of the opening of financial week	2 nd March, 2021 at 3.30 P.M in HOD Room

SCHEDULE WORK

Name Of Work :- Renovation of Room & Toilet at Employment Exchange Building, Pusa New Delhi - 110012

CLNIA	Description	0	11	Data	A
SLNo 1	Description Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed	Qty	Unit	Rate	Amount
2	with pigment of matching shade complete. Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters:	50	sqm	1300.00	65000.00
2.1	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	15	sqm	1886.70	28301.00
3	Providing and fixing aluminium sliding door bolts, ISI marked anodised (anodic coating not less than grade AC 10 as per IS : 1868), transparent or dyed to required colour or shade, with nuts and screws etc. complete :				
3.1	300x16 mm	5	each	257.15	1286.00
4	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete :				
4.1	300x10 mm	10	each	116.80	1168.00
4.2	250x10 mm	4	each	103.55	414.00
5	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete :				
5.1	100 mm	10	each	52.85	529.00

6	Providing and laying vitrified floor tiles in different sizes				
	(thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of				
	approved make, in all colours and shades, laid on 20mm				
	thick cement mortar 1:4 (1 cement : 4 coarse sand), jointing				
	with grey cement slurry @ 3.3 kg/ sqm including grouting				
	the joints with white cement and matching pigments etc.,				
	complete.				
6.1	Size of Tile 600x600 mm	60	sqm	1800.00	108000.00
8	15 mm cement plaster on rough side of single or half brick wall of mix:				
8.1	1:4 (1 cement: 4 coarse sand)	60	sqm	318.95	19137.00
9	Painting with synthetic enamel paint of approved brand		•4		
	and manufacture of required colour to give an even shade :				
9.1	Two or more coats on new work over an under coat of				
	suitable shade with ordinary paint of approved brand and				
	manufacture	40	sqm	177.15	7086.00
10	Providing and applying white cement based putty of				
	average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare				
	the surface even and smooth complete.	70	sqm	115.15	8061.00
11	Wall painting with premium acrylic emulsion paint of		- 1		
	interior grade, having VOC (Volatile Organic Compound)				
	content less than 50 grams/ litre of approved brand and				
	manufacture, including applying additional coats wherever				
	required to achieve even shade and colour.				
11.1	Two coats	70	sqm	113.90	7973.00
12	Demolishing brick work manually/ by mechanical means				
	including stacking of serviceable material and disposal of				
	unserviceable material within 50 metres lead as per				
12.1	direction of Engineer-in-charge. In lime mortar				
13	Dismantling doors, windows and clerestory windows (steel	6	cum	607.50	3645.00
15	or wood) shutter including chowkhats, architrave, holdfasts				
	etc. complete and stacking within 50 metres lead :				
13.1	Of area 3 sq. metres and below	9	each	274.50	2471.00
14	Dismantling tile work in floors and roofs laid in cement				
	mortar including stacking material within 50 metres lead.				
14.1	For thickness of tiles 10 mm to 25 mm	90	sqm	54.85	4937.00
15	Dismantling stone slab flooring laid in cement mortar				
	including stacking of serviceable material and disposal of				
	unserviceable material within 50 metres lead.	70	sqm	190.30	13321.00
16	Providing and fixing water closet squatting pan (Indian type				
	W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre				
	low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming				
	to IS : 7231, with all fittings and fixtures complete, including				
	cutting and making good the walls and floors wherever				
	required:				
16.1	White Vitreous china Orissa pattern W.C. pan of size				
	580x440 mm with integral type foot rests	2	each	7050.00	14100.00
17	Providing and fixing white vitreous china pedestal type				
	water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush				
	pipe, with manually controlled device (handle lever),				
	conforming to IS : 7231, with all fittings and fixtures				
	complete, including cutting and making good the walls and				
	floors wherever required :				
17.1	W.C. pan with ISI marked white solid plastic seat and lid			12000.0	
		1	each	0	12000.00

18	Providing and fixing white vitreous china flat back half stall				
	urinal of size 580x380x350 mm with white PVC automatic flushing cistern, with fittings, standard size C.P. brass flush				
	pipe, spreaders with unions and clamps (all in C.P. brass)				
	with waste fitting as per IS : 2556, C.I. trap with outlet				
	grating and other couplings in C.P. brass, including painting				
	of fittings and cutting and making good the walls and floors				
	wherever required :				
18.1	Range of two half stall urinals with 5 litre P.V.C. automatic flushing cistern	2	each	20500.0 0	41000.00
19	Providing and fixing wash basin with C.I. brackets, 15 mm	2	each	U	41000.00
	C.P. brass pillar taps, 32 mm C.P. brass waste of standard				
	pattern, including painting of fittings and brackets, cutting				
	and making good the walls wherever require:				
19.1	White Vitreous China Wash basin size 630x450 mm with a				
	pair of 15 mm C.P. brass pillar taps	3	each	5200.00	15600.00
20	Providing and fixing P.V.C. waste pipe for sink or wash basin				
20.1	including P.V.C. waste fittings complete.				
-	Semi rigid pipe				
20.1.1	32 mm dia	25	each	87.70	2193.00
20.1.2	40 mm dia	10	each	98.40	984.00
21	Providing and fixing mirror of superior glass (of approved				
	quality) and of required shape and size with plastic				
	moulded frame of approved make and shade with 6 mm				
21.1	thick hard board backing : Rectangular shape 453x357 mm	-			
22		3	each	1120.25	3361.00
22	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 :				
22.1	15 mm nominal bore	3	each	418.95	1257.00
23	Providing and fixing C.P. brass long body bib cock of	3	each	410.55	1257.00
20	approved quality conforming to IS standards and weighing				
	not less than 690 gms.				
23.1	15 mm nominal bore	3	each	552.35	1657.00
24	Providing and fixing C.P. brass stop cock (concealed) of				
	standard design and of approved make conforming to				
	IS:8931.				
24.1	15 mm nominal bore	6	each	606.25	3638.00
25	Providing and fixing aluminium work for doors, windows,				
	ventilators and partitions with extruded built up standard				
	tubular sections/ appropriate Z sections and other sections				
	of approved make conforming to IS: 733 and IS: 1285, fixing				
	with dash fasteners of required dia and size, including				
	necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc.				
	Aluminium sections shall be smooth, rust free, straight,				
	mitred and jointed mechanically wherever required				
	including cleat angle, Aluminium snap beading for glazing /				
	paneling, C.P. brass / stainless steel screws, all complete as				
	per architectural drawings and the directions of Engineer-				
	in-charge. (Glazing, paneling and dash fasteners to be paid				
	for separately):				
25.1	For shutters of doors, windows & ventilators including				
	providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of				
	EPDM rubber / neoprene gasket required (Fittings shall be				
	paid for separately)				
25.1.1	Polyester powder coated aluminium (minimum thickness of				
	polyester powder coating 50 micron)	30	kg	850.00	25500.00
	Total				392619.00
	Add Internal Electrical Work L.S.				552015.00
					105000.00

The work is estimated to cost Rs. 4.98 lakh. This estimated cost, however, is given merely as a rough guide.

Purchase Committee have the right to select or reject any tender without assigning any reason.

SD/-

(Sathya Shankar BP) Director/HoD